
SAP ABAP table EMARC2 {Data Division MARC: Division 2}

EMARC2

LADGR [CHAR (4)]

USEQU [CHAR (1)]

AUFTL [CHAR (1)]

PLVAR [CHAR (2)]

OTYPE [CHAR (2)]

MTVFP [CHAR (2)]

PERIV [CHAR (2)]

BWSCL [CHAR (1)]

STAWN [CHAR (17)]

HERKL [CHAR (3)]

HERKR [CHAR (3)]

EXPME [UNIT (3)]

MTVER [CHAR (4)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 EMARC2-HERKL = T005-LAND1 
0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 EMARC2-HERKR = T005S-BLAND 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 EMARC2-EXPME = T006-MSEHI 
0..N

0..N

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]
 EMARC2-PERIV = T009-PERIV 0..N

0..N

T439P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

PERKZ [CHAR (1)]

AUFTL [CHAR (1)]

 EMARC2-AUFTL = T439P-AUFTL 0..N

0..N

T604

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

STAWN [CHAR (17)]
 EMARC2-STAWN = T604-STAWN 0..N

0..N
T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 EMARC2-OTYPE = T778O-OTYPE 
0..N0..N

T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 EMARC2-PLVAR = T778P-PLVAR 

0..N

0..N

TLGR

MANDT [CLNT (3)]

LADGR [CHAR (4)]

 EMARC2-LADGR = TLGR-LADGR 

0..N

0..N

TMBW1

MANDT [CLNT (3)]

BWSCL [CHAR (1)]

 EMARC2-BWSCL = TMBW1-BWSCL 

0..N

1

TMQ2

MANDT [CLNT (3)]

USEQU [CHAR (1)]

 EMARC2-USEQU = TMQ2-USEQU 

0..N

0..N

TMVF

MANDT [CLNT (3)]

MTVFP [CHAR (2)]

 EMARC2-MTVFP = TMVF-MTVFP 

0..N

0..N

TVFM

MANDT [CLNT (3)]

MTVER [CHAR (4)]

 EMARC2-MTVER = TVFM-MTVER 

0..N

0..N


